
Powersync (a fictional company) is a South African company that manufactures a wide range of power and automation products, including electric motors and power systems. The company was established in 1995 and employs more than 2000 people, notably electrical and mechanical engineers and technicians. The company has built up a product base in African countries such as Ghana, Nigeria, Uganda and Zambia. Powersync is an equal opportunity employer and is especially proud of the number of female engineers in its employment. The company recently entered into a five-year partnership with a German company that would enable them to jointly develop new products and share technology. This deal would result in cost savings, improved quality and reduced product development time, therefore making both companies more competitive. Various shared projects have been identified and project leaders have been selected.

Five managers from Powersync have been earmarked for a management exchange programme which will see these managers working in the German company for a period of two years, while five German managers will relocate to South Africa for the same period.

Questions
1. What types of organisational design would be most appropriate for Powersync to achieve its goals? Explain your answer. 

Answer:

· Any type of organic organisation, that is, flexible networks of multitalented individuals who perform a variety of tasks.

· It could include a virtual, networking, boundaryless or even matrix structure. 

· Virtual organisations can either have an intra-organisational or inter-organisational form. Virtual organisations are characterised by the use of technology, a focus on excellence, opportunism, trust, collaboration, a lack of borders, flexibility, a visible outcome, temporariness, adaptability, a shared vision and shared benefits. Virtual organisations are also characterised by discontinuous affiliations, discontinuous locations and tasks, virtual communities and virtual workplaces. 

· A network organisation is defined as a lasting relationship between two or more organisations and is based on affiliations and partnerships that are more flexible and cost-effective. Network organisations create relationships characterised by the six ‘I’s’: importance, investment, interdependence, integration, information and institutionalisation. 

· A matrix structure. Employees can fulfil their functions as normal, but then also join a product/project team (with employees from Germany) for a period.

2. What kind of challenges are managers faced with when they work in a global environment?

Answer:

· People in different countries and cultures perceive work differently and live differently, which results in them having different motives and expectations. 

· The work ethic of people across national boundaries differs. Americans, for instance, are very conscious of the need to balance work and home, while in Japan it is traditional to spend some vacation leave at work in order to demonstrate loyalty and commitment. Managers who do not understand these differences may become frustrated in their quest to lead diverse teams.

· The emergence of virtual teams requires the ability to connect people and share knowledge through communication systems and advanced technology. 

3. What typical skills and competencies do managers need to make them effective in a global environment?

Answer:

· Managers require intercultural and communications skills, conflict resolution skills and good IT skills, and they also need to be able to adapt. 

· The need to understand the context in which the company operates, and to respond effectively to it.

4. Powersync has employed a number of female engineers. Does this imply that the company is managing diversity well?

Answer:

Not necessarily. Diversity management is more than affirmative action. It implies appreciating diversity, and ensuring that all people in the organisation are empowered to participate in decision making. It is about creativity and the sharing of ideas in order to respond better to a diverse market. 

5. Do you think the partnership between Powersync and the German company will result in more effective knowledge management for both companies? Explain. 

Answer:

Yes, knowledge management is about creating, distributing, sharing and using the information that employees have accumulated over time through different experiences. In this case, both companies are participating in the management exchange programme. One can assume that the employees will share their knowledge and will also be open to learn from each other, and will then distribute this information further in the organisation to bring about effectiveness and efficiency. The purpose of this exchange was to reduce costs, improve quality and reduce product development time, thus making both companies more competitive. This cannot happen without adequate knowledge management. Consequently, various shared projects have been identified and project leaders have been selected. 

One would assume that both these companies also have state-of-the-art technology which they can utilise in the process of knowledge management. 


Harley-Davidson

In 1903, the Harley-Davidson Motorcycle Company was established by William S Harley, Arthur Davidson and Arthur’s brother Walter Davidson. The company grew rapidly during World War I and II as a result of a military demand for 90 000 cycles. After World War II, the company changed to manufacturing motorcycles for recreational purposes and personal use, with new streamlined and more attractive models being introduced onto the market. In 1953, Harley-Davidson was the last remaining motorcycle manufacturer in America and, as such, had no competition. Despite this monopoly, the company started to slide backwards, mainly as a result of poor quality, a drop in demand for motorcycles and a large inventory of unsold products. In addition, customers lost faith in the company and the quality of its products. In the meantime, the Japanese started exporting more and more motorcycles to the American market. In response, Harley-Davidson appealed to the government to bail it out, and the government of that time, led by Ronald Reagan, increased tariffs on large Japanese motorcycles from 4,4 per cent to 49,4 per cent. The intention was to apply these tariffs for five years only and, during this time, the percentage would decrease each year. Harley-Davidson had to shape up, or ship out. 

The management team of Harley-Davidson made a careful analysis of the company and listed the main problems. These included the following:

· Senior management focused on short-term returns and not long-term value.

· Management did not listen to employees and employees were not made responsible for the quality of the products they manufactured. 

· Relationships were not considered a priority. 

· Employees did not understand the business environment. 

· The company had far more parts than it needed, which took up space, increased costs and reduced productivity.

· Quick fixes, such a introducing more computers and state-of-the-art machinery, were used and the real problems were not addressed.

· The company had low profit margins, and became unprofitable during tougher economic times.

· Management did not consider the impact of international competition timeously. 

Eventually the management of Harley-Davidson did turn the company around and it became one of the flagship organisations in America and globally, but this case study focuses on the time before the changes were made. 

Source:http://www.fundinguniverse.com/company-histories/HarleyDavidson-Inc-Company-History.html; http://www.bestbeginnermotorcycles.com/forum/forum/3611/short-history-harley-davidson; http://en.wikipedia.org/wiki/Harley-Davidson

Questions

6. Change starts with the leadership of a company. What competencies and characteristics are required by 21st-century managers? To what extent did the managers at Harley-Davidson have this desired management profile? 

Answer:

· 21st-century managers need to be visionary, have a strategic orientation and understand all business functions. (Managers at Harley-Davidson had a short-term focus.)

· They need to respond to external forces. (Harley-Davidson’s managers did not consider international competition in a timely fashion.)

· They fulfil interpersonal, informational and decisional roles. (The managers did not have good relationships with employees and employees were not part of the decision-making process. One can therefore assume that the managers also did not share information with employees.) 

· They have to be able to manage a fragmented workday filled with challenges and problems to be solved.

· They need to be facilitators, promote lifelong learning, have a multicultural and multilingual orientation, share power, handle conflict well and act ethically. (Managers at Harley-Davidson were autocratic and did not show emotional intelligence.) 

· They need to be adaptable, have best practice knowledge, and think critically and creatively. (At this stage, the managers at Harley-Davidson were not creative and did not apply best practices. However, they did reach a point where they decided to analyse the organisation, which was a positive thing.)

7. Discuss the challenges that organisations face in the field of organisational behaviour? Did Harley-Davidson address these challenges successfully? Explain. 

Answer:
Each challenge needs to be discussed separately in more detail..

· Managing in a global environment: No, at this stage they did not anticipate international competition.

· Adapting to discontinuity and change: This company did not experience discontinuity because it had not changed. It did not adapt well to a changing environment. 

· Achieving excellence through the management of human capital. No, the company was not competitive, managers did not follow best-practice management techniques, employees were not engaged and quality was a problem. The company was neither effective nor efficient. 

· Utilising information technology for knowledge management. No, if the company had, it would have been more competitive. Managers did not listen to employees, which indicates that it was not a minding organisation. No reference is made to the use of information technology for sharing information. Knowledge management results in the use of ideas to improve efficiency and cater for the needs of customers more effectively. Problems were not solved properly. 

· Managing a diverse workforce as a competitive advantage. There is no indication that the company employed a diverse group of employees and, based on the earlier discussion, there is no indication that the ideas of employees were used.

· Organisational ethics: focusing on short-term results, making use of quick fixes and not empowering employees all indicate a lack of ethics.


Brooks Technologies 

You are the newly appointed human resources director of Brooks Technologies, a middle-sized organisation that employs approximately 500 employees. In the last couple of years, the organisation has grown rapidly. This rapid growth has resulted from the introduction of new technology that has enabled the organisation to increase its production by 30 per cent. The management team is currently investigating opportunities to export its products to China, Indonesia and Italy. 

However, the increase in production resulting from better technology has resulted in a lack of quality in some of the product streams. The company employs quality controllers whose task it is to check the quality at the end of the production process (post-process control). Ideally, quality should be checked during the process by employees and supervisors who are well trained in quality specifications. 

One of the areas in which the company has achieved is employment equity. The management and the supervisory team, as well as the employee corps, are all representative of the population. However, at this stage, there is no indication that employment equity is benefiting the organisation, as there is little interaction between employees from different cultural groups, and there is ongoing conflict owing to different values, beliefs, behaviours and opinions. 

The company is following a relatively traditional management approach based on providing employees with clear goals, instructions and information. Although employees receive adequate training in how to carry out instructions, they often do not understand the rationale behind the instructions. In addition, little provision has been made for upward communication between employees and managers. Status differences between management and employees are reflected in huge differences in salaries/wages and benefits, access to information, decision-making prerogatives, and even dress code and parking allocation. 

Questions

8. What kind of organisational structure is evident in the above situation?

Answer:

A mechanistic or bureaucratic structure. The company is following a traditional approach. The jobs are well defined (clear goals, instructions, job information) which implies close supervision, specialisation and a narrow span of control. Employees follow instructions and cannot influence the decisions of management. There are many status differences, which indicate a lack of networking. One can assume there are many boundaries in this organisation. 

9. Comment on the shortcomings in the current management style followed and indicate what competencies are needed by managers to become more effective.

Answer:

Shortcomings:

· The management team and the organisation do not adapt effectively to changes in the environment.

· The management style is autocratic and traditional.

· Local diversity is not well managed, yet the organisation feels ready to explore international markets.

· There is a lack of communication between managers and employees.

· Managers and employees do not work as a team or partnership, and there is a large status difference between these two groups.

Management competencies required:

· Adaptability. Managers should recognise and respond to continual and unexpected changes in a timely fashion.

· Knowledge about state-of-the-art practice. Managers need a repertoire of techniques and methods, based on benchmarked best practices.

· Intercultural competencies. Managers need fluency in multiple languages, cross-cultural sensitivity and the ability to adapt to new settings.

· Information technology skills. Managers need strong IT skills so that they can readily demonstrate that they are conversant with hardware and software packages.

· Critical thinking skills. Managers should have problem-solving skills and should be able to use a diagnostic approach.

· Creativity. Managers should be able to invent new options or reconfigure current approaches.

· Interpersonal effectiveness. 
10. What factors in the above organisation currently limit the effective management of knowledge?

Answer:

Employee training is limited. Employees do not have access to information. There are no structures in place for employees to share their ideas and opinions with each other or with managers. The management style does not allow for a participative approach. Information technology is required for the effective sharing of information. There is limited interaction between people from different cultural groups, which limits the exchange of ideas. Employees are not directly involved in processes such as quality control and goal setting. 

11. Is this organisation ready to go global?

Answer:

The international arena is very competitive and organisations need to attain international standards. The company currently has a quality problem and its employees are not engaged in their jobs owing to a restrictive culture. The company is not able to manage local diversity effectively and that leaves questions regarding their ability to manage global diversity. A proper knowledge of international cultures is required for effective global business and human resources strategies. The management of virtual teams also requires specific attention and approaches. 

12. Explain what OB entails and how knowledge of OB can assist you as the HR director in leading the organisation to excellence.

Answer:

OB embraces an understanding of the following:

· The behaviour of people

· The process of management

· The organisational context in which management takes place

· Organisational processes 

· Interaction with the external environment of which the organisation is a part

· The interrelated dimensions of the individual, the group, the organisation and the environment all influence behaviour in work organisations and provide the structure for the book. 

A proper knowledge of OB will assist the HR director in developing policies, strategies, approaches and processes that will help individuals and teams to become effective and efficient. Both individuals and teams should become engaged in their jobs and committed to the organisation and its goals. This can only be achieved through effective management practices. In this organisation, there is a problem with the management approach, and knowledge of OB is required to create an environment in which managers can become facilitators, and promote life-long learning and innovation. 

13. What other challenges in OB does this organisation face?

Answer:

In questions 1 to 3, attention is given to global diversity and knowledge management. Other challenges include

· the promotion of an ethical culture 

· the management of diversity in the workplace

· the attainment of excellence through the management of OB

14. Explain the concept ‘engagement’. What barriers to engagement exist in the above organisation?

Answer:

· Engagement is when an employee is emotionally, cognitively and personally committed to the organisation and its goals by exceeding the basic requirements and expectations of the job. 

· The management style and processes followed in the above organisation limit the participation of employees. In addition, there are practices and status differences that signal an authoritarian approach. Employees also need to be exposed to relevant information and should be well trained. 

Case study








Additional case study 1








Additional case study 2











PAGE  
10

